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 BECC-101  

 

B.A. (HONOURS) ECONOMICS  

(BAECH) 

Term-End Examination 

June, 2022 

BECC-101 : INTRODUCTORY MICROECONOMICS  

Time : 3 hours Maximum Marks : 100 

Note :  Answer questions from each section as directed.   

SECTION A 

 

Answer any two questions from this section.  220=40 

 

1. (a) Illustrate the relationship between total 

product and marginal product curves. 8 

(b) Construct isoquants having positively 

sloped segments. In the same diagram draw 

the ridge lines and explain the concept of 

Economic Region of Production. 12 
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2. Consider an equation :    

  Q = m – nP     ... (A) 

where Q stands for quantity of a commodity, P 

for price of that commodity, m and n represent 

any constant numbers. Answer the following 

questions : 

(a) Is the given equation, a demand or a supply 

equation ? Give reason for your answer. 

Also draw the curve representing such an 

equation.   6 

(b) Now consider another equation :  

  Q = r + sP        ... (B) 

 Here again Q stands for quantity of a 

commodity, P for price of that commodity,  

r and s represent any constant numbers. 

Considering equations (A) and (B), 

determine the equilibrium price (P*) and 

quantity (Q*) of the commodity. 8 

(c) Let m = 500, n = 1, r = 200, s = 2. What will 

be the values of equilibrium price (P*) and 

quantity (Q*) ?  6 
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3. (a) Illustrate and discuss the three stages of 

production using the average product and 

marginal product curves. 10 

(b) In which stage of production will a rational 

producer produce and why ? 10 

4. (a) Compare the marginal-cost and the 

average-cost pricing approaches considered 

by the firms owned and controlled by the 

Government, that is, the public monopolies. 12 

(b) A monopoly has no supply curve. Do you 

agree ? Does this hold for a firm under 

perfect competition as well ? 8 
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SECTION B 

Answer any four questions from this section. 412=48 

5. (a) What is meant by Income elasticity of 

demand ? What does an income elasticity 

coefficient of 0 signify ? 6 

(b) Illustrate the graphical method for finding 

price elasticity of demand considering a 

straight-line demand curve. 6 

 

6. (a) Elucidate the cardinal utility analysis. Also 

write down the underlying assumptions. 6 

(b) Explain the Law of diminishing marginal 

utility. In what case(s) does this law not 

apply ?   6 

 

7. (a) What is meant by an Income consumption 

curve ? 4 

(b) Consider a consumer earning an income of 

< M and who consumes two goods X and Y, 

priced at PX and PY, respectively. Derive a 

demand curve from the indifference curve 

for this consumer.  8 



BECC-101 5   P.T.O. 

8. Consider the figure below, where capital (K) and 

labour (L) are the factors of production in 

producing output. I1, I2, I3 represent isoquants 

for output levels 650, 750 and 850 units, 

respectively. 

  

(a) Identify the returns to scale represented by 

the above set of isoquants. What are the 

factors that lead to such returns to scale ? 6 

(b) What is meant by External Economies ? 

Contrast it with External Diseconomies. 6 

9. What is meant by a Pareto efficient allocation ? 

With the help of a diagram, discuss the 

conditions for overall efficiency. 12 

10. Write short notes on the following :  

(a) Central problems of an Economy 3 

(b) Income effect vs Substitution effect of a price 

change   3 

(c) Marshall’s Theory of Rent 3 

(d) Imperfect Information  3 



BECC-101 6 

SECTION C 

Answer both the questions from this section. 26=12 

11. What is the need for the government 

intervention to solve the problem of  

Externality ? Explain one such intervention 

with the help of a diagram. 6 

12. Differentiate between the linear demand curve 

faced by a Monopolist and a kinked demand 

curve under Oligopoly.  6 
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~r.B©.gr.gr.-101 : àmapå^H$ ì`{ï>-AW©emñÌ  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : àË`oH$ IÊS> go àíZm| Ho$ CÎma {ZX}emZwgma Xr{OE & 

 IÊS> H$  

Bg IÊS> go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 220=40 

1. (H$)  Hw$b CËnmX dH«$ VWm gr_mÝV CËnmX dH«$ Ho$ ~rM 

gå~ÝY H$s g{MÌ ì`m»`m H$s{OE & 8 

(I) gH$mamË_H$ T>mb aIZo dmbo g_moËnmX dH«$m| H$s aMZm 

H$s{OE & Cgr aoIm{MÌ _| [aO aoImE± It{ME Am¡a 

CËnmXZ Ho$ Am{W©H$ joÌ H$s AdYmaUm H$s ì`m»`m 

H$s{OE &   12 
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2. Bg g_rH$aU na {dMma H$s{OE : 

  Q = m – nP     ... (A) 

 Bg_| Q dñVw H$s _mÌm, P dñVw H$s H$s_V, m Ed§ n {H$Ýht 

AMa g§»`mAm| H$mo {Zê${nV H$aVr h¢ & {ZåZ{b{IV àíZm| 

Ho$ CÎma Xr{OE : 

(H$) D$na {X`m J`m g_rH$aU _m±J g_rH$aU h¡ AWdm 

Amny{V© g_rH$aU ? AnZo CÎma Ho$ H$maU Xr{OE & Bg 

g_rH$aU H$m à{V{Z{YËd H$aZo dmbo dH«$ H$s aMZm ^r 

H$s{OE &     6 

(I) A~ Xÿgao g_rH$aU na {dMma H$s{OE : 

  Q = r + sP        ... (B) 

 nwZ… `hm± na ^r Q dñVw H$s _mÌm, P dñVw H$s H$s_V, 

r Ed§ s {H$Ýht AMa g§»`mAm| H$mo {Zê${nV H$aVr h¢ & 

g_rH$aU (A) VWm (B) na {dMma H$aVo hþE, g§Vw{bV 

H$s_V (P*) VWm dñVw H$s _mÌm (Q*) H$m {ZYm©aU 

H$s{OE &   8 

(J) _mZ br{OE m = 500, n = 1, r = 200, s = 2 h¢, Vmo 

g§Vw{bV H$s_V (P*) Ed§ dñVw H$s _mÌm (Q*) Ho$ _mZ 

Š`m h¢ ?   6 
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3. (H$)  Am¡gV CËnmX dH«$ VWm gr_mÝV CËnmX dH«$ H$m à`moJ 

H$aVo hþE CËnmXZ H$s VrZm| AdñWmAm| H$s g{MÌ 

MMm© H$s{OE & 10 

(I) EH$ `w{º$`wº$ (rational) CËnmXH$ CËnmXZ H$s {H$g 

AdñWm _| CËnmXZ H$aoJm Am¡a Š`m| ? 10 

 

4. (H$)  gaH$mar ñdm{_Ëd dmbr VWm gaH$ma Ûmam {Z`§{ÌV 

gmd©O{ZH$ EH$m{YH$mar CnH«$_m| Ûmam à`wº$ gr_mÝV 

bmJV H$s_V Ñ{ï>H$moU VWm Am¡gV bmJV H$s_V 

Ñ{ï>H$moU Ho$ ~rM VwbZm H$s{OE & 12 

(I) EH$m{YH$mar H$m H$moB© Amny{V© dH«$ Zht hmoVm & Š`m 

Amn Bg ~mV go gh_V h¢ ? Š`m `h ~mV nyU© 

à{V`moJr \$_© Ho$ {df` _| ^r bmJy hmoVr h¡ ? 8 
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IÊS> I 

Bg IÊS> go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE &  412=48 

5. (H$)  _m±J H$s Am` bmoM go Š`m A{^àm` h¡ ? _m±J H$s 

Am` bmoM Ho$ 0 _mZ hmoZo Ho$ Š`m {Z{hVmW© h¢ ? 6 

(I) _m±J dH«$ Ho$ grYr aoIm _| hmoZo na CgH$s _m±J H$s 

H$s_V bmoM kmV H$aZo Ho$ {bE aoIm{MÌr` {d{Y H$m 

{ZXe©Z (illustration) H$s{OE & 6 

6. (H$)  _mÌmË_H$ (cardinal) Cn`mo{JVm {díbofU H$s 

ì`m»`m H$s{OE & BgH$s _mÝ`VmE± ^r ~VmBE & 6 

(I) õmg_mZ gr_mÝV Cn`mo{JVm {Z`_ H$s ì`m»`m  

H$s{OE & {H$Z _m_bm| _| `h {Z`_ bmJy Zht hmoVm ? 6 

7. (H$)  Am` Cn^moJ dH«$ go Š`m A{^àm` h¡ ?  4 

(I) EH$ Eogo Cn^moº$m na {dMma H$s{OE {OgH$s Am`  

< M h¡ Am¡a Omo Xmo dñVwAm| X VWm Y H$m Cn^moJ 

H$aVm h¡, X VWm Y dñVwAm| H$s H$s_V H«$_e… PX 

VWm PY h¡ & Bg Cn^moº$m Ho$ {bE VQ>ñWVm 

(AZ{Y_mZ) dH«$ go _m±J dH«$ H$s aMZm H$s{OE &  8 
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8. ZrMo {XE JE {MÌ na {dMma H$s{OE, Bg_| ny±Or (K) Ed§ 
l_ (L) CËnmXZ H$aZo dmbo CËnmXZ H$maH$ h¢ & g_moËnmX 
dH«$ I1, I2 VWm I3 H«$_e… 650, 750 VWm 850 _mÌm Ho$ 
CËnmXZ ñVa àX{e©V H$aVo h¢ : 

 
(H$) Cn`w©º$ g_moËnmX dH«$m| Ho$ g_wƒ` Ûmam CËnmXZ H$s 

H$m¡Z-gr à{V\$b AdñWm (n¡_mZo na à{V\$b) H$m 
à{V{Z{YËd {H$`m Om ahm h¡ ? Eogo n¡_mZo na à{V\$b 
Ho$ {bE H$m¡Z-go H$maH$ CÎmaXm`r h¢ ?  6 

(I) ~mø {_Vì`{`VmAm| go Š`m A{^àm` h¡ ? BZ 
{_Vì`{`VmAm| H$s ~mø A{_Vì`{`VmAm| go VwbZm 
H$s{OE &   6 

9. naoQ>mo XjVmnyU© Am~§Q>Z go Š`m Ame` h¡ ? aoIm{MÌ H$s 
ghm`Vm go, g_J« XjVm Ho$ {bE eVm] H$s MMm© H$s{OE & 12  

10.  {ZåZ{b{IV na g§{já {Q>ßn{U`m±> {b{IE : 
(H$) AW©ì`dñWm H$s Ho$ÝÐr` g_ñ`mE±  3 
(I) H$s_V n[adV©Z H$m Am` à^md ~Zm_ à{VñWmnZ 

à^md   3 

(J) _me©b H$m bJmZ {gÕm§V  3 

(K) AnyU© gyMZmE±  3 
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IÊS> J 

Bg IÊS> go XmoZm| àíZm| Ho$ CÎma Xr{OE & 26=12 

11. ~møVm (Externality) H$s g_ñ`m Ho$ g_mYmZ hoVw gaH$mar 

hñVjon H$s Š`m Amdí`H$Vm hmoVr h¡ ? Eogo {H$gr EH$ 

hñVjon H$s g{MÌ ì`m»`m H$s{OE & 6 

12. EH$m{YH$mar Ûmam gm_Zm {H$E OmZo dmbo aoIr` _m±J dH«$ VWm 

Aënm{YH$ma Ho$ AÝVJ©V qH$H$s (qH$ŠS>) _m±J dH«$ Ho$ ~rM 

AÝVa ñnîQ> H$s{OE &  6 

 


